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2 Two Post Offices are located at P(3, 8) and Q(7, 2)
on a Council map. What 1s the equation of the line
which should form the boundary between the two
regions being serviced by the Post Offices?




Chapter 5F- Distance from a point to a line

¢ When we are looking tor the distance
from a pomnt to a line. we are ALWALS
looking for the shortest distance.

¢ We know that this distance 1s found by
creating a line that 1s perpendicular to
the given line.
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Example: Find the distance from P(1. 11) to the line with the equation
v -3y =8 (!

2x-34=¢
Step 1- Find the gradient of the given line.
2%-34=8

-24 = -2XXY _
i'b =3 48 l&ft" 3
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Ise the perpendicular slope and the point P to tind the
equation of the new line
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Step 3- Find the point of intersection (this mvolves solving a system A

of equations. ) f.‘j“\ ?r 2""‘3‘?
3(2}(-’5\5‘-3) = X147 >ﬂr/
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Step 4- Use the pont of intersection and the given popt P to find the

distance trom the pomt to the line. (l;“
ty
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HW: Pg 128 #1 (a-f)



